Speed Controller / Valve with Adjusting Dial

Flow Rate Control Valves with One-Touch Coupling

MMiniature Meter Out Part Number | Wrench Flats Thread Sizel Masss |Max.tightening| Unit Price | oucout e BLow-height Meter Out Part Number [ T~ "T" "T" T Wrenctl | | Thread |Mass| Unit Price [Vimelurifee
MNSPS Tpe | D[ A Be| s H M (9)  foraue Kgomft - 9 pefs)| 10~30 SPCNLH Type D [ Flats H SizeM | (9) [1~9pc(s)| 10~30
A o |8l 157 | 99 305 | 80 [ 8 [ maxo05| 8 3 M3 1i22.0 g [135] M3X05 | 17.8
| MNSPS w5l 157 | 99 | 305 | 80 3 | M508 | 8 12 B 216 4 |M5[215]164| 8 |115 125 | M5x0.8 | 17.9
T 6 |m5] 167 | 99 | 305 [ 104 | 8 | M5x08 | 104 [ 12 - E SPCNLH 1 Ji285 i |27
T - - : : - : ———‘ 1,192 _ | o |5 [225] T T, o] 10 | 0 [M5x08 | 21.2
i H ‘ S 1 |260] : 16.0| R1/8 | 242
- N T = 03. .
s ; <"’10¢ | LS M Specifications
,ﬂ{,,% alw - Applicable Fiuic| Air
- ® — H : \H OperatngTenp. Rt -5 ~ 60°C__ «(yperating pressure is set at
' 1 O [ Material: Body: SUS303 M OpertngPressre Renge) 0.05~0.7MPa_ ambient temperature (20°C).
i [T | * For M3 |Tlgegdﬁraszmgﬁgeslo?aﬁng)
*For M3 only Body, Thread:
(@ Material: Polybutylene Terephthalate
Thread: Brass (Nickel Plating) MValve with Adjusting Dial | NBDY Part Number A B E F H d J K L Unit Price
WiStraight Meter Out PartNumberf .1 | o | o, | g Mewhfas 1 [ThreadSize Mass | Control |UnitPrice| pesame Type D 1~4pcs). 5-10
SPSNS Type | D H M (@) | Type [1-9pc(s) 10~30 4 | 455 17 | 81 [ 116] 55 12 [ 16.2 | 30.8
4 | 1 | 4141485 341 98 | 10 | 181 ] Ri/8 | 341 I 2015 |17 || G| | 6 2| S182 || &0
NBDY | 8 | 50 [225] 95 131665 43 [ 15 | 19 | 41
M5[ 352 [ 11.4 [2012]11.9] 8 [159] Msx0.8 | 29.2 o BB RIS REAR SRR
6] 1 |3865(/14.85/34.05/ 11.9 | 10 [181| R1/8 341 2158 | 20 (115 151 79 20 | 23 | a7
2 [422]184 424 [11.9] 14 [201] R4 | 424
SPSNS 1 |4015[14.85(33.87[ 139 10 [181] R1/8 | 339 |Meter-Out B Specifications
82492184 4232139 14 [2018] R4 | 424 Applicable Fluid Air / N2 Gas / Vacuum
3 | 459|206 | 476|139 | 19 |225 R3/8 47.7 Operating Tf:mp. Range 5 ~ 60°C (Non-Freezing)
10| 21464184 |4232[ 169 | 14 [201| Ri4 | 424 Max. Operating Pressure 0.7MPa
3 (486206 476|169 | 19 |225| R3/8 47.7 Negatlvc_e-pressure 11 g&l;l;a

(® For SPSNS, the tube connection port will not move.

(@ Material: Polybutylene Terephthalate 7 Ordering Part Number| - IStrUCture Diagram No. ;art Name 5 [MMaterial
Thread: Brass (Nickel Plating) () [Needle rass
— Example SpcNLH4 - M5 Rotary Shaft Brass
EMiniature Straight Meter Out Part Number | Color | A | B |C1|ca| £ Mewifas | Thread |Mass Control Unit Price | pissountnate NBDYS DEG @G ® |Dial Aluminum Alloy, Polyamide, etc.
MNSPJS E Type [D| H SizeM | (g) | Type i -9pc(s)| 10~30 | 5 ¢ go;{el Pin goltainlessb Eteel
D i -Ring Fluororubber
\ T Jl\_" 3.2|M5|W (White)| 28 |12.4|27.2|130.2| 7.8 | 8 |11.2] M5x0.8 | 13.2 ~ 5 ® lGuide Bushin Brass
et MNSPJS| 4 M3 B (Black) 28.3|11.425.1|127.6/ 79| 7 |9.3| M3x05 | 7.7 Neter0ul H - @ [check Metal Brass
1 1 U M5 i 29 (12.4(27.2|30.2/8.8| 8 |11.2| M5x0.8 14 \ (® [Main Body Polybutylene Terephthalate
H ‘ & [ms|" W30 6l12a[27.2[s02[ 08| & _[11.2] Wex08 | 15 k 8 © [Stop Ring Stainless Steel
-Ring Hydrogenated Nitrile Rubber
T ; S " © [0-Ri ted Nitrle Rubbi
L =1 < @ @ _[0-Ring Hydrogenated Nitrile Rubber
8 S ‘ J_I_, O ® (2 [Gasket Hydrogenated Nitrile Rubber
. H @3 _[Holder Brass
o @ _[Chuck Stainless Steel
= || e | NI “— ||~ _( [OuterRing Brass
4 [Push Ring Polybutylene Terephthalate
- N @ Hoint Case Polybutylene Terephthalate

[ Material: Polybutylene Terephthalate 19 1D (23049 1 (@Al brass parts are electroless nickel plated.

Thread: Brass (Nickel Plating)

Hin-line SPJNSC Part Number A Unit Price | pissamaate
Twe | D | O Min Max B Mass (9) 19 o) 10~30
Parallel Knurling 4 | (Black) 48.8 52.3 10 139
SPJNSC | 6 ) 52 57 12 18.8
g [W (White) 53 68 15 31 o lFeatures o ) ) Bx Example
-Linear flow rate characteristics proportional to needle revolutions.
- Dial display makes it easy to control value of flow rate.
+Mounting part with 360° turn provides free mounting.
- Slide locking lever provides easy locking.
(D Material: Polybutylene Terephthalate .PRECAUTIONS ) K . 0N
Thread: Brass (Nickel Plating) -Throttle yalves for controlling both right ar_1d left sides flow rate. ) \
— "y Part Number A v dTread i Unit Price] e -Not applicable as a stop valve which requires no leakage. . — )\ "
EMbEEinle SPJNSK Color [— B | c | E [*rayired Dt fite -Fix the dial with slide locking lever after adjusting flow rate. N
Type D Min | Max (9) [1~9pc(s)) 10~30 “Tighten th i £0.8N- I -
¥ w SPUNSK LA |BEe 898 483 4 [ 10 [ 10 [ o | Wsas | 125 ighten the mounting screw at .o m or lower. 8 ‘ A\ \“‘\
6 |WWhite)| 428 | 463 | 4 | 12 | 10 | 9 | M508 | 13.4 & > AS \\‘\/
= ‘\,.\\‘\
Flow Rate Characteristics O)M
<NBDY> S5
D=4 D=8 .
400 ¢ Manifolds
0.7MPa 350 7MPa
(D Material: Polybutylene Terephthalate @ | * Meter Out e Meter-In e In-line g 0.5MPa % q:: 0.5MPa
Thread: Brass (Nickel Plating) _l Free Flow HE_' £ 00 =
Control Flow = = = = JIS Symbol 2/min 0.3MPa f/ianl‘%r)“m | Jo.3mpa
] (ANR) T
Ordering ‘Part Number| - |Nominal| - CO|OI“ | JS Symbol _ JIS Symbol ‘I_%_r 0w 0 T o mpa d{@u
= 5 e —
Example  SpsNsSe - M5 F Ifj’ F [i]’ T2345678010111213 UER ey 1017121314 g/ Q
MNSPJS6 - M5 - W " ' Needle Revolutions Needle Revolutions \\_/ gum -
D=6 D=10, 12 )®m'))
1 700,
11 0.7MPa ol 0.7MPa " et
g3 0.5MPa & 500 0.5MPa
z & 400
oimin CLosMPe pminang L foawra
° Specificati (ANR) —t (ANR) 5| 1 ) ;
pecilications i ] L 01MPa oo T L[]0 ¢ Bottom Side Mounting Example
e mull
Applicable Fluid Air T23 1213 0 3 121314

45 7 10 456 10
Needle Revolutions Needle Revolutions

Operating Temp. Range{f 0 ~ 60°C

8-1515 Operatng Pressure Range] 0.05~0.7MPa_ E-1516




